e e

~— FREE OF HEART CENTER
\

26'--Q

i

PANEL "A"  8'-4

PANEL "C"  8'—0 4" FANEL

" B0 ‘ PANEL "B"
TR

6'~8

WITH LOWER SPLICE BLOCK |
3/4" ¢ DOME

JW%{?% FIELD

s

WiTH UPPER & %w% SPLICE BLOCKS WITH

5 /8 6 DOME §~w € HIGHLAND ROAD
HEAD DRIVE o8 8 D0 | 3 ASPHALTIC

DRILLED, SPIKES, ; SURFACE OVERLAY

0.02 Zi SLOPE 0.02 */, SLOPE i

WASHERS

UPPER SPLICE BLOCK

—-3/4 7 DIA. DOME
HEAD BOLT
WITH PLATE

B8
. | f;

—— SHOP DRILL

i Sl SR eE e smsn

1

RO —— s omewre gt s e ned
cence

TAPERED TIMBER FILLER—
SEE DETAIL C, SHEET 4.

NO.

REQD. MEM

PANEL "A" 12°x 84 x 24'~0 1 1.872

PANEL "8 127 6'—8 x 24’0 1 1.968

PANEL "C7 12°% 6'-0 x 24'-0 5848

SPREADER BEAM 5% 1% 26—

0 196

SCUPPER BLOCK—INT, POSTS 8x 12'x 3

o L36

SCUPPER BLOCK—END POSTS | 8'x 12"x 83 ' 98

RAIL POST x 12"%x 311 313

SPACER BLOCK 6'x &8x 10 1/2" 035

DRIP PLATE T 14x 2

3 : 032

SPREADER BEAM FILLER SPLIT 8'x 6°x 13-0 | 052

TiMBER EDGE PIECE 3w 3x 240

36

CURR 6x 127% 24

-0 ) 288

Al {GLU~LAM) 6% 10 3/4"x 24'--0 253

TOTAL TREATED TIMBER

8.90

FASTEN Z'x 37 (FINISHED SIZE)
TREATED TIMBER PAVING %ﬁhﬁ@%
WITH 40d. NAILS @ 18" CENTER
{COUNTERSUNK) —— \

3" ASPHALTIC
SURFACE OVERLAY —

12"x 24’0 CONTINUQUS CURB

&% 12" x {‘%w; INT. &
8'-3 END) SCUPPER BLOCK

. ‘;ﬁmi‘}{ w%*’f%m}i 5’”}]} "‘g} “”g" M%g& g}ﬁ %:,?

PLATE.,  FASTEN TO DECK PANEL
WiTH 2 ROWS OF 4 — 40d. NAILS
AT 8 MAX. CENTERS.

R R e e R e

—
APERED TIMBER

18" %

SEE DETAIL C, SHEET 4,

CURBS ARE TO BE PLACED SO TAGS
SHOW FROM C/L ROADWAY. MATCH
CURBS & SCUPPERS PER SHOP
PLACED TAG NUMBERS, ———

—— 4" DIA. SPLIT RIN

CONNECTORS

*”"‘“OM‘% RACTOR IS TO ASSEMBLE 1
SCUPPER & CURB IN PLACE.

THEN MARK & DRILL DECK
FOR SPUT RINGS, REASSEMBLE

AND BOLT DOWN,

SHOP

DRILL

BOLT,

260 SPREADER BEAM
SPREADER BEAM FILLER

Wﬁ%ﬁmﬁ@;

%j*:yi:;fw} FOR im %‘:”%“ NG ANK} @a.m:;m ?’%N%jhm
BRIDGE.  EYEBOLTS ARE TO BE REMOVED

ON

AND REPLACED WITH
0L

FAD

FIEL

é 4"x 26" DOME HEAD BOLT
—~PFPLATE WASHER FACH BOLY

o AND

N SPREADER BEAM,

D DRILLED,

17 TOTAL DROP. 1/2° ON POST,

‘j_i,/&i%w" DROP ON i%ﬁ@?‘%

AILING & SPACER BLOCK -

UIRVES ;’2@” DOME

m} ROLT
{;A Aﬁﬁ% )

Zl - éii%“ g% ?Xﬂﬁféw

PLATE WASHERS--

4" SF H’“F%

:ﬁf“/@‘ B

LA DOME HEAD

- PLATE WASHER EACH TO
SPREADER BEAM 15

REGUIRED BOLT LENGTH

TEM

LENGTH
(N, )

3/4"

. BOLTS — CURB TO FLOOR

5/8

D, DR, SPIKES — @& FLR, PANEL SPLICE

11 1/2

;fb aﬁgjk

2, DR, SPIKES — PANEL TO CAP

26

35/4

. BOLTS -~ SPREADER TO PANEL

Y

3/4" DIAMETER DOME HEAD BOLT (ASTM A325

WITH 1

~ 4% 4'x 5/18" E&M%? WASHER EACH @ i%f} 1

3/4 DM, HD. BOLT
1 PL. WASHER PER

PANEL "A" IS THE FIRST PANEL TO BE
PLACED IN TS FINAL POSITION ON THE CAPS,
DRILL 11/16" DIA. HOLES THRU DECK AND INTO
THE CAPS AT THE LOCATIONS SHOWN AND DRIVE
THE 3/4" DIA, DOME HEAD DRIVE SPIKES. NEXT
PLACE PANEL "C" SO TS UPPER SPLICE BLOCK

S 15 OVER THE SPLICE BLOCK ON PANEL "A" AND

DURAW TIGHT TOGETHER WITH A MINIMUM 3 TON
LEVER HOIST, THEN DRILL HOLFS IN LOWER
SPLICE BLOCK OF PANEL "A" AND DRWE THE

5/8" DIA. DOME HEAD DRIVE SPIKES. MEXT DRILL
HOLE THRU THE DECK AND INTO THE CAP AND
DRIVE THE 3/4" DOME HEAD DRIVE SPIKES.
THEREAFTER, SUCCESSIVELY PLACE PANELS "¢

AND "B" N THE SAME MANNER USING THE LEVER
HOIST TO DRAW EACH UNIT UP TIGHT.

ALL HOLES WHERE DOME HEAD DRIVE SPIKES ARE
USED ARE TO BE 1/16" SMALLER THAN SPIKE SIZE.

NG.
REQ'D.

3/4" DIA. x 26" DM. HD. BOLT — RAIL TO POST 2 PER POST

1 1/4'% 268" DM. HD.BOLT W/ PL. WASHERS ~ POST 1 PER POST

\:%jfﬁ»w

DA,

x 307 DM. HD. DR. SPIKES ~FLR. @ PDOS 3 PER POST

;ﬁf /e 4;?&

!

. DM. HD. BOLTS — CURB TO FLRE. A ok

ﬁ/@”

2
D

. UM, HD. DR, SPIKES —~ @ FLR, PANFL SPLICE 39

';Ef;)fé@fﬁ

DM. HD. DR. SPIKES — PANEL TO CAP 18

Iﬁfﬁ'@y’

|
1A,
DI

. DM. HD. BOLTS - SPREADER TO PANEL | &

. 5 /’ %ﬁ'

DIA.

x 22" DM. HD. DR. SPIKES — CURB OVER ABUT. 8

40d, NAILS

= TIMBER PAVING BLOCK & TIMBER DRIP PLATE 656

4" DIA. SPLIT RING CONNECTORS 8 PER POST

PLATE WASHER FOR 5/8" DiA. BOLTS VARIES

PLATE WASHERS FOR 3/4" DIA. BOLTS VARIES

3/8 DiA. R.S. SPIKES 52

.

W@

,ﬁﬂj}{ E @39% Ey 7 e

TIMBER DRIP é‘*’iﬂ%:

3/4 " X 30" DOME HEAD -
DRIVE SPIKES, DECK
REINFORCEMENT AT EACH
POST LOCATION

8w 12'% 3—11 RALPOST

e
e

r
N
o /,/
- o
o o

e 37 ASPHALTIC

AND WITH 4 1/4" ¢ BOLT HEAD.

8% 10 3/4"x 24
"GLUED LAMINATED  RAILING-.

X Ex 10 1/2° SPACER
BLOCK (S1E 5 1/2°)

=8 X 12" CURB (S4S)y—._

—Ex 12 83 §f: o)
S Ex 127 30 INTERIOR)

SCUPPER BLOCK (S4S)
= PAVING BLOCK (3°x 3")

SURFACE OVERLAY

4" DIAMETER /2~
SPUT RINGS— P

-3/4 "

2 M@f’ ¢ HEAD (ASTM A325)
1 — 4'x 4"x 5/168" PLATE
HER PER BOLT

WAS

—PREFAB TIMBER
DECK PANELS ——

DOME HEAD BOLTS WiTH

wok 4 PERCINTERIOR POST AND 2 PER END POST

ABREVIATIONS

DM, — DOME Pl - PLATE
HO. — HEAD FLR, — FLOOR
DR, — DRIVE .5, — RING SHANK

SiLl OF HARDWARE §$ FOR | NF%%M&Y%%\ ONLY.  ALL REQ'D.

CONNECTORS AND HARDWARE ARE INCLUDED IN COST FOR “TREATED
LUMBER AND TIMBER™,

ALL TIMBER CONNECTORS AND MHARDWARE SHALL BE GALVANIZED,
ATTACH SPREADER BEAM FILLER TO SPREADER S8EAM WIT

3/8 R.S. SPIKES AT 2°-0 SPACES,

3/47% 30" DRIVE SPIKES

Fevision

STATE OF WISCONSIN
'S’%ZPN%?MF %‘xé‘? F ??%A?‘”“ 3@?&? TION

PPEFR

DECK REINFORCEMENT Const,

noar, ' Qhuak@r?

SHEET 5 oF &

858307035



